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Questions

Which process is responsible for ascending of water in plants from roots to leaf?

Which one of the following properties of water is responsible for rising of water in plants?

Boiling point of water is:

At which temperature o water shows mxamimum density.

The density of water is ................. at4°C

The heat capacity of water is greater than rocks.

Specific Heat capacity of water is about.

How many percentage to water contains oceans?

The % age of drinkable water on earth is

Which gas saves the surface of earth from ultra violet radiation?

The formula of ozone is.

Which one of the following is not air pollutant.

Answers Choice

A. Condensatin

B. Transpiration
C. Capillary action
D. Evaporation

A. Specific heat capacity
B. Viscosity

C. Excellent solvent action
D. Capillary action

. O<sup>o</sup>C

. 25<sup>o</sup>C

. 80<sup>o0</sup>C

. 100<sup>o</sup>C

o0 w>

. 0 <sup>o0</sup>C

. 100<sup>o0</sup>C
. 4<sup>o</sup>C

. -4<sup>o0</sup>C

. 1 gcm<sup>-1</sup>
. 2 gcm<sup>-1</sup>
. 3 gcm<sup>-1</sup>
D. 4 gcm<sup>-1</sup>

Ow> OToOm>

A. 4 times
B. 5 times
C. 6 times
D. 7 times

A. 4.0 Jg<sup>-1</sup> K<sup>-
1</sup>
B. 4.1 Jg<sup>-1</sup>K<sup>-
1</sup>
C. 4.2 Jg<sup>-1</sup>K<sup>-
1</sup>
D. 4.3 Jg<sup>-1</sup>K<sup>-
1</sup>

A 67%
LT7%
. 87%
.97%

o0

.2.0%
.0.02%
.0.2%
.5.0%

. CO<sub>2</sub>
.CO

. N<sub>2</sub>

. O<sub>3</sub>
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.0

.CO
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.CO

. NO<sub>2</sub>
. O<sub>2</sub>
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